Part - 1 :

(reneral Kunowledge

)

In respect of maneral reservoir what s the position

of Madhya Pradesh i the country?

(a) 3" thy 47

(cy 1! idy 5%

Which of the following s the mustasd producing

distrct/disiriels of aMadhys Pradesh?

(ay CGwalior hy  Biuml

idi  All of these

Where is diese] engine factory ocawd in Madhya

Pradesh?

fa) lpdore ib) Bhopal

(C) Sagar ) Viisha

Deendayal Antyodaya Scheme 15 for:

(a) People and family Hiving below poverty line

(b} Only for individuals living below povernty line

{c} People laving their income helow 3 lakhs per anmean

() Families having maximum 5 members in their
family

(cy Morenm

Where did the first fire of 1837 rebellion in Madhya -

Pradesh trigger?
{8) Gwalior canionment
{h} Nee:muﬂh cantﬂnmem

(r:.j Shivpun

B - (@ Mhow

&,

14,

1i.

() New Delhi

Who was the first President of Republic Indial
fa) Pt. Jawaharkal Nehruo

thy Dr. Rajendry Prasad

fc} W.C. Banerjce

{dy Nome of the above

Where 15 Chandoli National Park locawed?

(a} Maharashira {by Kerala

{¢} Karnataka (i} Himanchal Prudesh
Which of the following Nuclkear Plant is ;1 Tarmil Nadu?
(a} Tarapur () Narora

() Kundankulam

Who was the First Indian to receive Ramon
Magsaysay Award!

(a) Acharya Vinoba Bhave

(b} Saifuddin Kichls

{c} Shyama Prasad Mukherjee

(d} Abdui Kalam Azad

Who was the first Chinese traveller to visit India?
(a) Fahein (by Hu-sang

(C} Ain-chi (d) None of the above

Where is the Headquaner of indian Coast Guard
locawed?

(a) Pama

¢y Rawar Bhata

{‘h) hMumbaj
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(a) Khan Ahdul Gaflar Khan

thy Vngoha Bhave

(e Mabarmns Gandhi

idy None of these

Whe was the Dt Foreign Minsser of free India?
(i hawahariad Nebrg

(hy Capdzardal Nands.

ier Lal Bahadur Shastn

{dy John Mathas

China has launched its ambitious transcontinental
miative Maritime Sitk Road (MSR). 1t wall pass
through which of the following 3 Southeast Asian
t‘.:_tﬂjﬂ!“l"'i:ca;'-:’f-‘

(@) Vietnamy Japa, indoneshia

18,

¢y Indonesia, Thailand apd Myanmar

Vietsam, Thailand and Malaysia
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Prize m Boononios’
(ar Sasfudom Richb
(hy Ammariva Sen

() Sherpa Angs Dorjee

(dy S. Mukherjee

What was the. esact constitational. po

npnid

Indian Republic when the Constinstion v

(ar A Democrate Republic
(b
Sovereipn Seculn

A Sovercien Secul:
“Republic
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- Ahe given word, M

G ,
(5% Coinfines ® Roomy
10 Inbonvéiieng @ Desiinable

from the given oplions.
Avract

{a) Rejoice

{c} Hepel

P, Fingd the ward which 15 opposite 10 the geven wond

by Rewom
iy Discomfon

70.  Find the word which is most similar in meAning to
the given word,

Capable

(a) Incompetent (b Inefficient

{c) lry;g:fx o () Competent

Find the word which is most similar in meaning o
the given word.

Cavity
(a) Hole (b} Elevation
(c) Mound (d) Height

Find the word which is most similar in meaning to

the given word.

Disaster

{a) Boon (b)

() Happiness @

Hﬂ is strong committed

(2) whether, or ) so, that

() such, that @

?"4 . 'Ria i_.ﬁ o 7 talented sincere.

o (ﬁ} mhethﬂr, or - (b} both, and
o Theve

1.

Misfortune
Prosperity

nicither. nor

Bl

Fingd the word which is opposite to the geven word
from the given opiions.

Crowded

(a1 Dense (by Lonely

(c} Manly () Populaed

Find the word which 15 most similar in meanmg w
the given word.

Dwvel]
{a) Ljve (hi
{c) Move (cd)

Mr. Roy 15 guite rich,
satisfied.

{a) sull (b
(c) and {d}
P revealed the secret

{a) couid (b} could not
(d} can

() could have
present at the wedding of vour

Travel
Migrate
he is pot

Since
therefore

You
younger sister last year.

(b must be
{d} must have

(@) must

{c} must have been
One should mind
(&) one's

(¢} our

I hardly know
@) anybody

@ woody

_ own business.
{b) their

(d) ones

m the town.

(b) no one

___ your brother yesterday. _
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The rati of calls answered by machine w0 those
answersd By a possible client s 10 o 3. Bvery day
a telecom company makes 1050 phone calls,
How miany of these calls are answered by a
possible client?

{rTE

o

— ]

208

225

{ay 315
(cy 275 {ch)
On a s at a rate of 3% per aanum a trader get
R, 600 in 3 g;ﬁﬁrﬁ} How Hﬁﬁﬁ‘i h gﬁt more if the
fent was on C17 o
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[ Find the value of

(a) | vy
{c) 2 (ly -2
VIO sin” 217 s’ 697 s equal 19
(3) | (1) i

(el Zsin’ (9°

=

P, then which of the following is correct?

-

by P Q . =
| ) 352,82 sy, thenx

{dy Nong of these . e
o (a2} 6.5 i

(cy 7.5 idy
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the above

{c) Both
40% nu

ors of parliament know English langoage
know Hindi. 15% of the Members of
know any of these two languages. How many progression in which the ditference of 129 and 179
know both Hindi and Engli

oy Ay | (1) 5 thy 7

h language? ferm 1s 337

{d} Cannot be di.’li;;ﬂ]ﬂn‘;ﬂ (cy 12 idy 10

-

120. If 6 times the 6™ term of an arithimetic

_— _ DIOEIession
OFA(10) 1s: is equal w0 12 times the 12% term, then the 18¥ term

will be " | 2
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s Wiich one s recyeiable waste

is
(@i Haper
ihy Torn clothes
() Metallic and plastic discards
(dy All of the ahove
123, Measurement of water pollution is made by?
ta) Coliforni count (tn  BOD/BOD
(i pH/pH (dy  All of the ahove
130, Protein symthesis occurs on-
(a} Rihosome (b Lysosome
{¢) Nucleus (d} Chloroplast
13E. Ininduction, how does the mansier of charges takes place?
(a} Touching
() Rubbing
(f.;j From a distance
i .-'-_._:{d} Eitl her by rubbing or touching
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Strengih of an clectromagnet incresses by
G oincreasine tre number of lurns of the coil
1 ncreasing the current flowing through the coil
(Cl ousing .ﬁa‘Ji"i_ iron cote for she coil
All of the above
Sound cannot travel tirough
{(a) air (b water

(<) ron (e} vacuam

138, Two wires A and B of « equal length differ only in

139,

140),

their thickness. A s thinner than B. If both are
piucked with same force, then?

(&) A will preduce sound of higher pitch than B
by A will pm{EmL sound of lower pitch [h{]j. B )
{c} Both wili produce sound of egpal plth .
() None of these

When a body is negatively charged by friction, it means
(a) the body has acquired excess of i;f:l_{;{.{_t:['ﬂl.'l_ﬂ
tb) the body has acquired excess of pﬁi’fi;m_ls__
(c) the body has lost some electrons

{d)} the body has lost some. REULTONS: . :. .3+

it a charged body attracts another hudv ‘the chargﬂ-.;:;:f

011 tia:. uthu hmh _
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G Addsion polviver (19
()
Alr Polistants that produce photochemical smog ase
(at

I lastomer
() Thermoplasiie Therioseiting
Ozone, Chlorine and Sulphur divside
Osvaen, Chiorine and Nitric acid

€ Nitrous axide, PAN aad Acrolein

() Ularbeny dionade, Carbon mononide and Stlplan dinek:
Phe manbor of olefinie bonds 1o the given compaakt ane?
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gy lomsised hyvdrogen molecule
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W A paracke

Pour contamers of 21 capacily contaias ditrogen
as described below, Which one of tdw tellowing
contains maximun manber of mofecuios wider
sintlar condittons.
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